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EUREKA MATH2� 5  ▸  M3  ▸  TB  ▸  Lesson 10

1.	 Use the area model to find the product. Then complete the equation.

​​ 3 _ 4 ​​ × ​​ 6 _ 5 ​​ ​​ 3 _ 4 ​​ × ​​ 6 _ 5 ​​ =  ×  ×  × 

= 

= 

Make a simpler problem. Show your thinking. Then multiply.

2.	 ​​ 3 _ 5 ​​ × ​​ 4 _ 3 ​​ = 3.	 ​ 5 _ 2 ​ × ​​ 4 _ 6 ​​ = 

4.	 ​​ 5 __ 11 ​​ × ​​ 9 _ 4 ​​ =    5.	 ​​ 7 __ 12 ​​ × ​​ 7 _ 3 ​​ = 
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REMEMBER

Use the Read–Draw–Write process to solve the problem.

6.	 One year, it snowed 18 ​​ 2 _ 5 ​​ inches in Baltimore. That same year, it snowed 12 ​​ 4 _ 7 ​​ inches in Louisville. 
How many more inches of snow fell in Baltimore that year than in Louisville?


